B4 43
SHB%SO
T
2/T 6439
:'¥: 53 99
<C
R =
—
647.72 ~ 1/E
T
<
2/M <
g 4. 05 0+00
— 64.11
B84 a1 5
Ol 64.15
=
=
[N
(@]
2/M S |
o \
\
|
\
\ B84.67

64 .50 q.w
"(’/ . 41 >

———————______“——“ “W\\G‘.“wlo 64 B
Eaa |7/ 5‘07 y = 7 ; D B
8‘ 7@ 3 4 p’ %
; s -
; %, & * -
& Z ,’ -

1/11 \

2/MN

\ 1 \ 2/
| & 3/M @

_ 65.23

e

L 65.20
64 .52

§§>&* &

“ A

\

lf/’ﬂ#’#"/,#,,.,f~'~""'f~’ﬁ]53_59 '63.68B.72

1.00

63

84.1{

\-li

=

\'

/

</
W\

53.9763.84

_

OAOY IONIAY

.‘\ V/-=‘_\:
\6% .60 %

X 1328673334
147430.442

- 64 .46
T G -
.- - Z;NH ME AYNATDTHTA PARKIN __,_———~"“——¢ﬂﬂ

I— —
/ ~
_ o
P, o
! /4
“VV \
N L = e, | B4 . 5%

1020

' fai b
1 ,/r1 T '
64 716470

3/M

1/11 65 . 04

b5 .[25

64.18

[IEP10XH

0AQY BPYOYAoN

—

64 . 648% B4 64 70

ABE 1T

OAOY IONIAX

64 .33

6p1o épyou

65.17 B85.25
1/n 65.27
65.07
64.99 | g5 k35 .0B5.29 6522
1/
1/E
1/
HPAKAETO ATIPIAIOL 2009
AHMOT. HPAKAEIOY KPHTHE
ATEYBYNLH TEXNIKON EPTON
MEAETHTHL TTEPANAKHL TEOPTIOL ATPON. TOMOrP. MHX/KOX
BEMA LXEATOY YXEAIO MNEPIOXHY 3
0 MEAETHTHE BECPHBHKE 0 AIEYBYNTHE KAIMﬁﬂAéagﬂlﬂY
9OTKOAAKHE BATTEAHE 3
APXITEKTON MHXANIKOZ
pe A* BaBpo




